

番号	訂正箇所		原文	訂正文
	ページ	行		
1	28	11 - 12	$\dot{Z} = \frac{\dot{V}}{\dot{I}} = \frac{1}{\frac{1}{R} - j\frac{1}{\omega L}} = \frac{1}{\frac{1}{R} - j\frac{1}{\omega L}} \cdot \frac{\frac{1}{R} + j\frac{1}{\omega L}}{\frac{1}{R} + j\frac{1}{\omega L}}$ $= \frac{\frac{1}{R} + j\frac{1}{\omega L}}{\left(\frac{1}{R}\right)^2 + \left(\frac{1}{\omega L}\right)^2} = \frac{1}{(\omega L)^2 + R^2} \left(\frac{1}{R} + j\omega L\right)$	$\dot{Z} = \frac{\dot{V}}{\dot{I}} = \frac{1}{\frac{1}{R} - j\frac{1}{\omega L}} = \frac{1}{\frac{1}{R} - j\frac{1}{\omega L}} \cdot \frac{\frac{1}{R} + j\frac{1}{\omega L}}{\frac{1}{R} + j\frac{1}{\omega L}}$ $= \frac{\frac{1}{R} + j\frac{1}{\omega L}}{\left(\frac{1}{R}\right)^2 + \left(\frac{1}{\omega L}\right)^2} = \frac{1}{(\omega L)^2 + R^2} \left(\frac{1}{R} + j\frac{1}{\omega L}\right)$